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V =0.50X0.81X0.50 X 4 = 0.8 m’

a7 —RIIHL (¢ 42 X480 )
N=6x4 = 24 fL
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7 H—T. (K J7H D25)
N =45x2
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= 11.9 m®
= 4.2 0
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4 i) Hi ¥ HAL | = fi Y
HOE @ A B 5 = 1
F AT MRS = 1
*)i iR 3] i m’ 245
voo— h kB i m” 245
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FPHE EETHEHTE

B A E 55
1z

FARSATRRAL RS
1=

Bk b

A= 163" +50" +1.0X8.2X24+1.0X7.9%X2 245 m®

— MRS #
A = BIRFGEXY = 245 m?
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R LR TR R 3 1240

Hi ¥ HAL | = fi Y
=) —MEERR m’ 0.1
T A7 7V NI m’ 4.6
=) — N (BA5) m’ 4.7
=Y —bgk R m’ 0.4
HUB A t 0.04
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BHBE RERBETHES;FE

=

TE AR LB
a). 27 —EREERR
HET LD Vo= 0.1 m’

b). TATZ 7V NEEE AR
LET T AV 46 m®

). U —Nk (B8R
IR I B Y - R AR 251 1 Tk
V=0.8+3.9 = 4.7 m®

d). =7V —ha (A7)
WriFifE1E T&0
vl=1,2%0.2 = 0.1 m*
MAEEM O1/28 L TELE,
fHff 2 (SR T 0 v2 0.3 m°
V=0.1+0.3 = 0.4 m’

e). BU A dt i
AR 2 [ R T« D R85 TOURR T 45 )5 TS TSRS 1 - FE /K S A T 0
W =0.010+0.006+0.017+0.002

0.04 t
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INRISIERE B R 150240
T i 4 PR Hl i i b} %
[ONO oY et NN 1

O b g8 B | ATEHPEE AR BHE 3
IE K M B T 1

1k 7K B | s)a— Hr0m %L 0.2

TIA~ —BH Va—H 11

Ny Ty T ARV H 5
HEAKE o B L 1

B 7K w 0-210X110 1

A F =7k [J-210X 1104 2

oK E W E 0-210x110 1

i) Wr 0-210X110 1
& % T 1

s ER R o R T—h AR 260 | WHEH- IR, FABEDGRE A e

[ERIEE]
50 |WHEH- PR, BB S T
[&HEE]

HE EA 2SS 1

Wik B G 240

v o— MR By i 240




N ER O OO R THEERR

170240
sl B pT) L =X A ¢ & 1 =
O b R OE A[EOPET AN AR m 3.3
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NBEERE DUPNTEIHEHEE

OOV TR (RTEH PR A R)
L= OWbhh e EHHEELY = 3.3m
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OV FeE HEE R E
v @ |oUPR| X | & % |ovbnER| |, g 000 BS | K K [OUbhER
= g (mm) (m) &) (m) = Mg (mm) (m) (&) (m)

- 0.3 1 0.3
AlfGH 0.2 1.2 1 1.2
- 0.6 1 0.6
/J\%Jr 2.1
AUGE - 0.5 1 0.5
- 0.4 1 0.4
/J\%Jr 0.9
Plﬁéjﬂ%ﬂ — 01 1 01
- 0.2 1 0.2
/J\%Jr 0.3
s 3.3
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OWoh FEE HEEEE

T34 2 -8%F 10 =Lt

e HMTR Y BIE

100m24Y)
4 R 3R i HANT £ =4 i) E23
D — IV M 7] EHPE AR I kg 13.0 1,30
7 5 A < — TAHREHE kg 1.0 5450, 5kg/m>{
BEFH
—Ubt W= 0.01X0.01X1300"™ % 100.0™ = 13.0 kg
T~ —Hf W= 0.01X2X0.5™ x100.0 ™ = 1.0 kg
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AINEESTERE 1k KA O T AR R 154240

4 i) Hi ¥ HAL | = fi Y
1k 7K o sVa—r#0RESE&SELE | n’ 0.2
7 7 A~ — B i S )a— m” 11.2
Ny I T oy T M FIARY T LB m” 5.3
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NWBEENE LK RELHEHFEF

1R Yz —#70 R % 5 DL )

apiminn e 0.03X0.02 X 87.50 X2 = 0.1 m*
wiEa i 1,72 X 0.06%0.03 % (0.55+0.75) X (10+10) = 0.02
warns (1,7°2X0.06X0.0340.01 X 0.03) X (0.55+0.75) X (9+9) = 0.03 »

TV o= 0.2 m’

TIA~—¥A Va— )

stmmisn e 0.02X 2 X 87.50 X 2 = 7.0 m*
ygggnse §(0.0372+0.0372) X 2 X (0.55+0.75) X (10+10) = 2.2 1
gk 4 (0.03°2+0.0372) X 2X(0.5540.75) X (9+9) = 2.0

SA = 11.2 m*

NI T TR AR L2 )
A=0.03X87.50 X2 = 5.3 m’
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/N EIEE PEKE oy BUE THEERIR 120
4 Fr Hl | BT | i i} W
HE 7K i [0-210X110 m 1.2
1A v F =V F v b [J-210 X 110/ & 2
P ok W & [0-210X110 1.0
4l Wr 0-210%X110 &P 1
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WBEERE HKEHASRELHEH]EEF

HEK% (VP O-210X110)

AF =4k (O-210 X 110H)

HEAK 2= (VP O-210 X 110)

Bk (VP O-210 X 110)
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)
4 i) Hi ¥ HAL | = fi Y
Aol g B Bh RS —N IR RRG# m’ 263 HflEE - R B S T
R REE]
54 wfIEE- R B S T
GANED
HOE @ A B 5 = 1
R s %] E m’ 240
vo— bk 8 B d m’ 240
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NWBEEE EETHEHEE

F AR R O — MR E)
INREEERE RS T X (BEX) 2R
4 588.0mDH% | 73.0miZ[BRERE]EL. 15.0mix (& RIEE] LT 5,

[ B HIEE]
A=(0.841.0)X73.0X2 = 263 m®
(% HEEE]
A=(0.841.0)X15.0%2 = 54 m”
¢ RHER- R BB A A T
AR 2 5
1xX
RARR
Al 4.8%X9.24+38.1% +1.0X4.8+1.0X4.8 = 92 m*
P 7.6 X(9.04+1.0X2)+3.1X(3.0+3.0+2.2) = 109 »
Aziam 5.7X1.6+1,/2X7.1X6.7+1.0X5.7 = 39 »
TA = 240 m*
T—ERGH#E
Al 4.8X9.24+38.1M +1.0X4.8+1.0X4.8 = 92 m’
P 7.6 X(9.04+1.0X2)+3.1X(3.0+3.0+2.2) = 109 »
Aziam 5.7X1.6+1,/2X7.1X6.7+1.0X5.7 = 39 »
A = 240 m*
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